sHz2gE ERAKLIHHBR—BEFRAZIHFEE
I A 24,300,000 M
X 24, 300, 000 M
IR A DEB (B M)
b3 IH =i REETFHE nEEsvTEaE [ A 37 f+ &2
1.¥&%& 17,971,000 18, 167, 000 A 190, 000
1.HA&& 17,971, 000 18, 167, 000 A 190,000
1. REHES 15,477, 000 15, 637, 000 A 160, 000
2. HRlEERS 2, 500, 000 2,530, 000 A 30,000
2. s 1, 000, 000 1, 000, 000
1. Ehh2 1, 000, 000 1, 000, 000
1. #Bhe 1, 000, 000 1,000, 000 EhmAehE
3. (=A% 2, 200, 000 2, 200, 000
1. =R 2, 200, 000 2, 200, 000
1. KR e {sE A # 1, 400, 000 1, 400, 000 BRLAH
2. FirEa RN 800, 000 800, 000 BERELHAH
4. #URA 630, 000 550, 000 80, 000
1. 3IRA 630, 000 550, 000 80, 000
1. #URA 630, 000 550, 000 80, 000 |mm#> TEE NI ESS
2. AERF 0 0
5. AFEERA 93, 000 88, 000 5, 000
1. BFEEUIA 93, 000 88, 000 5, 000
1. RUNFE R E 43, 000 38, 000 5, 000
2. BEREIRA 50, 000 50, 000 BEEKBELAHSE
6. BAE 0 0
1.8BAE 0 0
1.&gAE 0 0
IR % 2, 400, 000 5,200,000 A 2,800,000
1. 2 2, 400, 000 5,200,000, A 2,800,000
1. HIEEZEE 2, 400, 000 5,200,000 A 2,800,000
8. EAR 0 0
1.E&EAE 0 0
1.fEAER 0 0
a5 & 24, 300, 000 27,205,000 A 2,905,000




X HDER (B M)
® | B B AEEFHEE EELYTESE [ A + &8
1. EHE 10,514,000( 10, 274, 000 240, 000
. REBE 90, 000 83, 000 7,000
1. 288 90, 000 83, 000 7,000
2. EH%E 10, 424,000[ 10,191, 000 233, 000
1. 1% B i 720, 000 720, 000 HE R
2.4 H 4,124, 000 3, 476, 000 648, 000[®E1&. /X— &, K114
SHEFL 148, 000 196, 000 A 48,000
4. HEE 331, 000 331, 000 BEEE., BERK
5. AEe 48, 000 48, 000 BRGEFSHMXBERES
6.1k & 230, 000 300, 000 A 70, 000|#BE & HRF X4
1. HERLEE 100, 000 360, 000 A 260, 000
8. REHEE 1,073, 000 1, 000, 000 73,000(# B $REN. IXEEFEE
9. HRE 500, 000 600, 000 A 100,000[/8va>, FvERY L, 4R
10. ZHR%& 800, 000 700, 000 100, 000(E=#H MM, MRIESE
1. ZF&E 50, 000 50, 000 ERE%E
12. E%REE 100, 000 200, 000 A 100, 000
13. EfgH 1, 200, 000 1,210, 000 A 10, 000|=#5/T
14.5% % 0 0
15. " #%& 1, 000, 000 1, 000, 000 BIEE. &5tV 7 MRETHE
2 HEEERE 9,242,000( 11,073,000 A 1,831,000
1. #EEE 9,242,000( 11,073,000 A 1,831,000
1. #HFE 3, 000, 000 2, 741, 000 259, 000|/kPq. R> TESHKZE
2. EBRE 4, 000, 000 4, 090, 000 A 90,000|ZFN Y, BH, BFAFHE
. IEE 2, 000, 000 4,000,000 A 2,000, 000{sE*M. ZERHE
4. REE 0 0
5.4 & 242, 000 242, 000 BNMU#., REXFE
S EEERUFF 0 0
1. EE£RUFF 0 0
1. —BEASHT 0 0
2. {EExe 0 0
4. HEE 1, 000, 000 795, 000 205, 000
1. S 1, 000, 000 795, 000 205, 000
1L EEEHE 0 495, 000 A 495,000
2. BISR SRS 0 0
. fEiiEiLe 1, 000, 000 300, 000 700, 000 |fEFE H Al =Et~
4 BibEERBHE 0 0




® | B’ H AEETFHERE MEELOTEE [ A 5 f+ &
5% & 2, 726, 000 2,763, 000 A 37,000
1. X ft& 0 0
1. REMIRZ T & 0 0
2. FHH 0 0
2. 58% 2,726, 000 2,763, 000 A 317,000
L REZRAES 2, 500, 000 2,530, 000 A 30,000|RES(IEHIBS
2. HRES 226, 000 233, 000 A 7,008 LERIEE
3. & 0 0
1. BEREZH 0 0
2.FEME 0 0
6. LEEENE 500, 000 2,000,000] A 1,500, 000
| CHERNE 500, 000 2,000,000{ A 1,500,000
. LEEDE 500, 000 2,000,000f A 1,500, 0004 ~> bk, 2T Ly b
1. P& 318, 000 300, 000 18, 000
1. FlEE 318, 000 300, 000 18, 000
1. PlRE 318, 000 300, 000 18, 000
a &t 24, 300,000(  27,205,000] A 2,905,000




TH2FE SRAKLIiHRREMERRFEFRNSHBAZLFES
® A 44, 544,000 M
X 44, 544, 000 M
YA DER (Bf M)
% | B B AFETHE MFELUTEE 0 L K f+ 2
1. RIBERARFEE 3,000, 000 2, 600, 000 400, 000
1. B RRE 3,000, 000 2, 600, 000 400, 000
I REARES 3,000, 000 2, 600, 000 400, 000| 3 4 F £
2. F#IRA 0 0
1. #ARA 0 0
1. LA 0 0
5. #RiE 41,544,000( 34,703,000 6, 841, 000
1. RHE 41,544,000 34,703, 000 6, 841, 000
1. s 41,544,000( 34,703,000 6, 841, 000
& &t 44,544,000 37, 303, 000 7,241,000
X HDE (Hfz M)
% | B AFETHE NsESYTHE L & f+ o
1. R 0 0
1. B E 0 0
1. & 0 0
2. FiHE 44,544,000/ 37, 303, 000 7,241, 000
2. FiRE 44,544,000 37, 303, 000 7,241,000
. FiRE 44,544,000( 37, 303, 000 7,241,000
& &t 44,544,000 37, 303, 000 7,241,000




TH2FE SRAKIHRERFERBIESHIETRAIHFESE
= A 1,369,000 M
X W 1,369, 000 M
IRA DER (B M)
£ ] B AEETHE MEEsTEE K B f+ &
1.#BAE 1, 000, 000 300, 000 700, 000
1L#BAE 1, 000, 000 300, 000 700, 000
1LIRAE 1, 000, 000 300, 000 700, 000(— =&t & Y
2. FURA 0 0
1. #UTA 0 0
1. 3URA 0 0
3. MREE 6, 369, 000 6, 068, 000 301, 000
1. B 6, 369, 000 6, 068, 000 301, 000
1. iIFEREE 6, 369, 000 6, 068, 000 301, 000
& &t 1, 369, 000 6, 368, 000 1,001, 000
X HDER (Hfz F)
A | =] AEEPHE MiFcEsyTHEE L 8 f+ &
1 RHE 0 0
1. RHEE 0 0
1S 0 0
.58 & 0 0
2. FiRE 1, 369, 000 6, 368, 000 1,001, 000
1. PHE 7, 369, 000 6, 368, 000 1,001, 000
1. P& 1, 369, 000 6, 368, 000 1,001, 000
a F 1, 369, 000 6, 368, 000 1,001, 000




FTH2FE BRAKLHRRR#FEEELLEEFNRFNAZIHTESE

I A 0M
X H 0H
IR A DER (B M)
E: =] H AEETHE nEEL0TESE L ® f+ 32
1468 0 495,000 A 495, 000
1.HEE 0 495,000 A 495, 000
1.HEE 0 495,000 A 495,000
2. #ARA 0 0
1. IR A 0 0
1. 3URA 0 0
.BIELEER 2 0 0
1.3 fts 0 0
1. 1€ 0 0
2. BRI & 0 0
4 FHE 0 0
1. #FEE 0 0
1. 13s 0 0
& &t 0 495,000 A 495,000
X HDER (B M)
= =] H AEEFELE MmeELnTEE B & f+ &
1. &8¢ 0 495,000/ A 495,000
1. 88 0 495,000 A 495,000
1. A& 0 330,000 A 330, 000
2. BRI E 0 165,000, A 165,000
. EKAEE 0 0 0
2. EKE 0 0 0
1. %8 0 0 0
1. E5%8 0 0 0
KR 0 0 0
1.R%8 0 0 0
1. ITE% 0 0 0
2 BERHE 0 0 0
3. FiHE 0 0 0
4 FHE 0 0 0
1. P& 0 0 0
1. FHE 0 0 0
& &t 0 495,000 A 495,000




TH2EE SARKIBHBRRBREREBESHEISHISHRAZHPHE
m A 4,097,000 M
X 4,097,000 M
IRA DER (HEfz )
® | & B REETHE (MEELDTHE & f+ &2
1L#@gAE 0 0
1LgAS 0 0
I BEHE5RAS 0 0
2. URA 1,000 0 1,000
1. #URA 1,000 0 1,000
1. 3URA 1,000 0 1,000
3. 1 4,096,000 4,094,000 2,000
1. Rue 4,096,000 4,094,000 2,000
| B4ERERREIE|  4,006,0000 4,094, 000 2,000
& &t 4,097,000 4,094,000 3,000
X H DA (B F)
= A 2 AEETHRE |MEELDFHE L3 f+ &
1. % 0 0
L& & 0 0
1. B#RiRHE 0 0
2.% H 0 0
2. FiwE 4,097,000/ 4,094, 000 3,000
1 TiHE 4,097,0000 4,094, 000 3,000
1. FiHE 4,097,000( 4,094, 000 3,000
& &t 4,097,000( 4,094, 000 3,000




